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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7678 8.6 2.7 15 57.4 100
2 7678 9.5 2.4 15 63.4 100
3 7678 9.7 2.5 15 64.7 100
4 7678 8.2 2.5 15 54.9 100
5 7678 8.7 2.7 15 58.3 100
6 7678 9.1 2.8 15 60.7 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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	 (c)	 How successful have hard engineering approaches been in providing protection from 

river flooding?	 [6]
		 Use one or more examples of hard engineering approaches to flood management to 

illustrate your answer.
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Sticky Note
This answer begins to tentatively offer some evaluation hence it takes the answer to a basic level 2 response. The candidate would need to give specific examples and together with a discussion of whether these schemes have achieved success to be awarded a level 3 mark.
Is the Thames Barrier successful? Use the Internet to find the evidence.

Sticky Note
Different hard engineering approach identified although the candidate fails to demonstrate convincing knowledge of this scheme, give specific examples or discuss the success of this strategy.

Sticky Note
The candidate demonstrates limited understanding of hard engineering in this first paragraph. The candidate seems to be referring to the Thames Flood Barrier. How could you improve this first paragraph?





Sticky Note
Communication is clear, logical and has structure. The response demonstrates understanding of more than one hard engineering approach. The response was awarded level 3 = 5 marks. The answer is a clear level 3 answer because it attempts to evaluate the strategies. However, it fails to give specific examples which would demonstrate the detailed knowledge needed for 6 marks. Which examples could you use to improve this answer?

Sticky Note
A further example of hard engineering adds detail to the answer and the candidate again attempts to evaluate the success of the schemes.

Sticky Note
No specific examples given although the candidate demonstrates understanding and addresses the question by attempting to make a judgement about how successful this type of scheme can be.
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Sticky Note
This is a clear level 3 response. The candidate addresses every demand of the question. Added to this the QWC is clear, logical and has a clear structure and some specialist terms have been used. Hence this candidate was awarded 6 marks.

Sticky Note
In this final paragraph the candidate addresses the first part of the question. Although only briefly the candidate nevertheless clearly weighs up the present and possible future likelihood of success of the two schemes identified. 

Sticky Note
A second specific example of hard engineering responds to the demand in the question to discuss approaches (plural).

Sticky Note
This is a very good quality first paragraph. The candidate demonstrates understanding of hard engineering and gives specific examples. The candidate does not yet evaluate the success of these schemes.
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(ii)	 In the space below, draw an annotated diagram to explain the formation of any one 
landform at a destructive plate margin.	 [4]

Theme 3 – Living in an Active Zone

3. a





2

Sticky Note
This is a level 2 response. Explanation of processes would be needed to achieve level 3. What could you add that would explain why a volcano has been formed here?

Sticky Note
Relevant landform identified, which is required for level 2. 

Sticky Note
This question is assessed using a levels mark scheme. 

Sticky Note
The diagram is clear and accurate, although labelling is limited with very little development





3

Sticky Note
Some development of labelling.

Sticky Note
Some development of labelling.

Sticky Note
Relevant landform identified. The naming of a strato volcano adds weight to the level 2 award.

Sticky Note
This is a level 2 response. Appropriate labelling has also been developed, hence this answer was awarded 3 marks.





Sticky Note
Clear and accurate diagram although lacks detail

Sticky Note
Pleasing to see genuine annotation with accurate development of points made. Clear explanation.

Sticky Note
Relevant landform identified

Sticky Note
This is a clear level 3 response and was awarded 4 marks. The diagram is not impressive but is clear. The explanation of processes is clear and accurate.
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END OF PAPER

(c)	 Describe how regional patterns of development differ within one country that you have 
studied.

		 You must draw a labelled map to help your answer.	 [6]

Country  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Turn over.

6





Sticky Note
Much of this answer is confused or inaccurate. The candidate has recognised a suitable country to use but lacks the knowledge and understanding to develop the answer.  

Sticky Note
Demonstrates some relevant knowledge and understanding. This is a clear level 1 answer. The examiner has taken into consideration the QWC in the award of 1 mark to this candidate. The answer has a basic structure, information communicated in brief statements.

Sticky Note
Sketch map is simplistic and does nothing to add to the answer. 

Sticky Note
The examiners saw some responses that were of a higher standard than when similar questions have been set previously. However the quality of the sketch maps were generally poor and lacking in detail and often hindered the award of a higher mark. 





Sticky Note
Although this answer demonstrates good knowledge and understanding it lacks the detail in the sketch map and in the written response to achieve level 3. The answer was awarded 4 marks. 

Sticky Note
Knowledge and understanding lacks the specific detail for a convincing level 3 answer.

Sticky Note
The written answer clearly demonstrates knowledge and understanding of the regional patterns of development in Ghana. It also gives relevant reasons for these patterns.

Sticky Note
The map contains no relevant detail. The candidate missed an opportunity to label this map with relevant detail such as the location of the coastline and features such as the capital city Accra. This answer was typical of many candidate responses.
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Sticky Note
This a convincing level 3 answer and this candidate was awarded 5 marks. What kind of extra detail could be included to turn this into a 6 mark answer?

Sticky Note
Knowledge and understanding lacks the specific detail for a convincing level 3 answer.

Sticky Note
The candidate demonstrates clear knowledge and understanding of the regional patterns of development in Ghana. The candidate also begins to explain some of the reasons for these differences. 

Sticky Note
Appropriate and relevant country chosen.

Sticky Note
This map is recognisable and contains relevant detail. However, this detail is limited and lacks any explanatory purpose. Although the question is marked holistically the map would only justify a level 2 response.


	WJEC 2014 Online Exam Review
	GCSE Geography 4231-02
	Item Level Data
	Facility factor graph
	Question 1c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 3aii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 6c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked








14 


 
Question 1(c) 


Levels of response mark scheme. Work upwards from the lowest level. Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 


Level Level descriptor 


Level 1 
1-2 marks 


Demonstrates some knowledge and understanding. 
Max level 1 if response describes hard engineering approaches without 
evaluation. 
Information is communicated by brief statements.  There is a basic 
structure.  There is reasonable accuracy of spelling, punctuation and 
grammar. 


Level 2 
3-4 marks 


Demonstrates knowledge and understanding of more than one hard 
engineering approach and begins to evaluate success. 
Communication is clear and logical. Spelling, punctuation and grammar 
have considerable accuracy.                                               


Level 3 
5-6 marks 


Demonstrates detailed knowledge and thorough understanding of more 
than one hard engineering approach and evaluating success with 
appropriate example (s). 
Communication is clear, logical and has structure. Specialist terms are 
used with proficiency. Spelling, punctuation and grammar have consistent 
accuracy. 


 
Expected answer: 
Candidates may be expected to show  understanding of hard engineering where defences such as flood embankments, flood walls or rip-rap 
are constructed.   Other examples include the building of a dam to store water e.g. Three Gorges.  Such defences are expensive, need regular 
maintenance and will never fully protect a settlement.  Candidates may explore how climate change may cause more extreme weather events 
in the future and flood defences built in the present day will be inadequate.  Hence defences such as the Mississippi, despite massive 
spending, still fail.  Candidates may also explore the inability for poorer countries to build strong flood defences. Soft engineering although less 
expensive would not protect existing settlements.  Hence the most able candidates will give a summary of the advantages and disadvantages 
of hard engineering and perhaps reach a considered decision. 
The most able candidate should be able to give examples of where hard engineering have been successful e.g. Thames Barrier and not 
successful as in the flood defences in Boscastle pre 2008. 
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Theme 3 – Living in an Active Zone 
Question  3 


Rationale Expected answer 
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(a) Study the map and photographs below 


(ii) In the space below draw 
an annotated diagram to 
explain the formation of 
any one landform at a 
destructive plate margin. 


Due to the variety of landforms and 
valid 
points this question is marked using a 
level mark scheme.  Valid landforms 
are an ocean trench, fold mountain or 
volcano. 
Credit knowledge of one of these 
landforms and the skills of sketching 
and labelling.  


Level 1: Simplistic diagram showing correct 
shape of landform and some basic labelling. 
(1 mark) 


Level 2: Clear and accurate diagram of 
relevant landform, appropriate labelling and 
some development.   (2 – 3 marks) 


Level 3: Clear and accurate diagram of 
relevant landform, clear explanation of 
processes responsible for formation. (4 
marks) 


1 1 2 4 
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Question 3 (c)  
Levels of response mark scheme. Work upwards from the lowest level. Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 


Level Level descriptor 


Level 1 
1-2 marks 


Demonstrates some knowledge and understanding. 
Information is communicated by brief statements.  There is a basic 
structure.  There is reasonable accuracy of spelling, punctuation and 
grammar. 


Level 2 
3-4 marks 


Demonstrates knowledge and understanding of why the effects vary in 
different countries.  Max level 2 if no comparison or effects on different 
countries. 
Communication is clear and logical. Spelling, punctuation and grammar 
have considerable accuracy.     


Level 3 
5-6 marks 


Demonstrates detailed knowledge and thorough understanding of a range 
of effects on named countries at different level of development why the 
effects of earthquakes vary in named countries. Appropriate examples 
used to support the answer. 
Communication is clear, logical and has structure. Specialist terms are 
used with proficiency. Spelling, punctuation and grammar have consistent 
accuracy. 


 


Expected answer: 
Effects of earthquakes include landslides, falling building, fire, tsunami and many secondary hazards such as shortages of clean water and 
subsequent disease..  Candidates could approach this question in a number of ways – not all parts of the world are in a hazard zone, places 
such as Japan are in active zones and so the impacts are going to be different.  
Levels of development will also have a major affect on impacts so that richer countries such as Japan have the wealth and technology to lesson 
impacts through various predicting and preparation measures and also recover afterwards.  Poor countries such as Haiti cannot do this to the 
same extent.  The question invites a comparison of countries at a different level of development.  
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Theme 6 - Development 
Question  6 


Rationale Expected answer 
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(c) Describe how regional patterns of development differ within 
one country that you have studied. 


See level descriptors below. 2 2 2 6 


TOTALS 5 4 6 15 


Question 6 (c)  
Levels of response mark scheme. Work upwards from the lowest level. Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 


Level Level descriptor 


Level 1 
1-2 marks 


Demonstrates some knowledge and understanding.   
Information is communicated by brief statements.  There is a basic structure. 
There is reasonable accuracy of spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Demonstrates knowledge and understanding of regional patterns of 
development. Simplistic map with some relevant detail. Max level 2 if no map. 
Communication is clear and logical. Spelling, punctuation and grammar have 
considerable accuracy. 


Level 3 
5-6 marks 


Demonstrates detailed knowledge and thorough understanding of regional 
patterns of development. Recognisable map with relevant detail. 
Communication is clear, logical and has structure. Specialist terms are used 
with proficiency. Spelling, punctuation and grammar have consistent accuracy. 


Expected answer: 
Country chosen could be at any level of development. An attempt must be made to complete a map of the country to achieve level 3.  If Ghana 
chosen then the candidate needs to describe the north south divide and offer an explanation for the differences.  The north of Ghana is rural 
whereas the south is more urban.  Incomes in the south are double that in the north.  In the south better transport had led to the development 
of some industry and has seen considerable growth of international tourism in recent years.  Unreliable rainfall in the north adds to the poverty. 
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